

Apartment in Sliema



Sliema, Sliema and St Julians Surroundings



€455,000

Reference No: 240231027-235

 Total Rooms: **5**

 Floor Area (m²): **98**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Sliema

SLIEMA – APARTMENT located in a prime area, just one minute from the Sliema Ferry Terminal. Set in a smart block with lift access, this property features a spacious open-plan Kitchen, Living and Dining area leading to a front balcony, a main bathroom, and 2 double bedrooms (main with en-suite and back balcony). Sold freehold, Fully furnished, and ready to move into. Immediate viewings available.

Features

- ✓ En Suite
- ✓ Electricity Utility
- ✓ A/C
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 11 x 3.6 m (39.6 m²)
- ✓ Bathroom : 1.6 x 2.1 m (3.36 m²)
- ✓ Double Bedroom : 3.8 x 3.2 m (12.16 m²)
- ✓ Double Bedroom : 4.2 x 3.4 m (14.28 m²)
- ✓ Bathroom Ensuite : 1.8 x 1.1 m (1.98 m²)
- ✓ Open Space : 3.8 x 1 m (3.8 m²)
- ✓ Open Space : 2.5 x 1 m (2.5 m²)

Gallery







Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta